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Part one: vocabulary
Dlrectlons Complete the following sentences by using the most suitable word or phrases below each one.

71 . The main cause of obesity is the fact that our body cells have the potential to ...... fat.
a. hamper b. accumulate ¢. hinder d.diminish
72 . Life experiences can ............ an individual's brain to become shy or outgoing over time.
a. deform b. dissect c. merge d.mold
73. Some people may live with a hidden problem that ......... when they face a new public
environment which requires them to express it.
a. surfaces b. is concealed C. survives d.is convinced
74 . Moderate to vigorous exercise makesthe body's vessels ..... «s 4 50 the muscles are provided with
more blood. :
a. shrink b. dilate ¢. soar d. contract

75. According to some research, when there's plenty of calcium in the blood, fﬁt cells get the message
to .......... storing fat, so obesity is improbable.

a, commence b. command ¢. quit d.query
;(r» 76 . They are worried that their decision might prove to be ............ to the future of the regional
<, health facilities. ‘ :
3 .a.invaluable 'b. conspicuous ¢. detrimental - d.promotive ‘?‘)*
4 : 4 Ao } | J1 L Ab 1
< = . ! 3%
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77 . Traditional medicine that has been adopted by other populations outside its .......... culture is
often termed alternative medicine.
a. indigenous b. inferior c. irreversible d.foreseeable
78 . Poorly managed collection and cultivation practices could lead to the ........... of endangered
plant species and the destruction of natural resources.
a. conservation d.extinction b. retention €. suspension

79 . As science develops, extremely premature babies have switched from certain death to possiblc

struggle to ............ .
a. survive b. contrive c. contain d.obtain
80. The use of high-tech medical tests and surgeries has .......... rapidly overthe past decade in many
countries; they can be seen nearly anywhere nowadays.
a. revolted b. escalated c. shrunk d.vanished
81. Nowadays, improving the quality of health care and reducing medical errors are the main ........
in the health care system.
a. priorities b. afflictions c. perforations d.hazards

82. Millions of people do not receive necessary care and suffer needless complications that add to
costs and reduce.............

a. commodity b. probability ¢. productivity d.susceptibility
83. The complete sequencing of a copy of the human genome has been a tremendous ............ in the
medical world.
a. breakthrough b. bereavement ¢. retardation d.deficiency
84 . With modern technology, doctors can save someone who has .......... a temporary coma.
a. slipped into b. accessed to ¢. accepted d.invaded

85. Epidemiological studies use social classifications in the study of diseases in populations and

generally make .......... use of social sciences.
a. orbital b. ordinal c. optical d.optimal
86 . The primary objective of health policies directed towards older persons must promote the ...... of
healthy aging.
a. attendance b. attainment ¢. pretension d.provocation
87. Physiotherapy is a health care profession primarily concerned with the ......... of impairments
and disabilities.
a. retention b. violation c. ventilation d.remediation
88. It is the job of rehabilitation to provide the ........... which will help regain function for any
deficits you may be experiencing.
a. detraction b. intervention ¢. restriction d.derivation
89 . The current emphasis on the ........ and use of electronic health records is well known.
a. objection b. adoption ¢. expectation d.exemption
90. The introduction and ...... ... of e-health initiatives in hospitals have often been problematic.
a. implementation b. contraindication ¢. aggravation d.segregation
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Part two: Reading comprehension

Directions: Read the following passages carefully. Eaech passage is followed by some questions. Complete the
questions with the most suitable words or phrases (a, b, ¢ & d) below each one. Base your answers on the
information given only.

Passage 1

Pancreatic cancer is one of the most difficult cancers to treat. It is a biologically aggressive cancer that
spreads early in its development and responds to only a few chemotherapy drugs. For many years, there were
claims made by some doctors about an intriguing alternative medicine regimen, called proteolytic enzyme
therapy of the “Gonzalez regimen”. This consisted of orally ingested proteolytic enzymes, nutritional
supplements, detoxification, and an organic diet that required at least 70% of the food to be raw or minimally
cooked. Supporters claimed this regimen led to superior outcomes compared with chemotherapy treatments.
Growing enthusiasm and patient testimonials for this approach led the National Cancer Institute

(NCI) to sponsor a clinical trial to compare the Gonzalez regimen with chemotherapy for patients with

pancreatic cancer.

The result was reported in 2009 in the Journal of Clinical Oncology and was indeed siriking: those who
received chemotherapy lived for an average of 14 months whereas those who were treated with the enzyme
therapy lived for only 4 months; quality of life was also better with chemotherapy. This study shows once
again that any promising new therapy for cancer must be put to the acid test before it can be regarded as
effective, and patient testimonials cannot replace hard evidence.

91. The main purpose of the author for writing this passage is to show that ...... .
a. pancreatic cancer is highly metastatic and fatal
b. Gonzalez regimen is less aggressive than conventional therapy
c. alternative medicine is still the best choice for pancreatic cancer
d. any new therapy should be approved with strong evidence

92 . Before the publication of 2009 report, ...... .
~ a. chemotherapy was believed to decrease life quality notably
i b. proteolytic enzyme therapy was widely confirmed
c. Gonzalez regimen had attracted increasing interest
d. proteolytic enzyme therapy would decrease the survival rate

93. When using the cxpression “was indeed striking”, the author thinks the results were
a. promising for proteolytic enzyme therapy
b. inadequate for the conventional chemotherapy
¢. inconclusive for both conventional and alternative medicine
d. unexpected despite what was recommended by some doctors

94. The reported study shows the priority of ...... over cancer patients’ personal approval.
a. supplements b. testimonials c. solid proof d. organic diet

95. Gonzalez regiment was supported by .......
a. sufferers’ testimonies
b. the results of clinical trials
c. National Cancer Institute
d. the paper in Clinical Oncology
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Passage 2

and the infected tissue.

Finally, in the wound of a girl who had broken a leg bone, they found the useful germs which seemed to be
fighting the poisonous infection. They took some of these into the laboratory and from them d_eveloped ,
cultures; that is, larger masses of the germs with which to experiment. At last, after long and painstaking
work, they were able to draw from these germs a substance which is a germ destroyer, Dr. meleney and Miss
Johnson named it bacitracin--baci because the germ is, in sc1ent1ﬁc language, a bacillus and tracin for .

Margaret Tracy, whose broken leg supplied the germ.

Bacitracin at first was used only locally; later the drug was developed into a solution that can be used to fight |

‘germs through the blood stream,

The example of bacitracin indicates that ...... vorees s
a. in some cases a new discovery may be due to chance
b. discovering a new drug requires persistence and hard work
¢. the body can protect itself in any type of infection
d. designing a new drug is most frequently limited to medical schools

-------------

Nowadays bacitracin is used
a. for local infections
b. as an experimentally prescribed drug
¢. as a herbal medicine
d. for infections anywhere in the body

In this text, culture refers to ....................
a. masses of germs b. lab tests

The underlined ‘does this’ (line 4) refers to
a. infecting the body
b. starting some kind of action
c. fighting infection
d. beginning to search for the cheémical

The underlined ‘which’ (line 4) refers to
a. action b. human body

o 7 s
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¢. germ destroyers

--------------

C. 1tself

Every year scientists open more doors that lead to the secrets of new beneﬁcent.d.rugs. There is bacitracin,
which was discovered by two scientists at Columbia University’s _College of Physicians and Surgeons. :l"hcse
two people, Dr. Frank Meleney and Miss Balbina Johnson, knowing that t}%e human body l}ad some kmd‘ of
action in itself with which it fights infections, began to search for the cherTncal that does this. In the hospital

they examined badly infected wounds of people who had been hurt in accidents and made tests of the blood

d. chemical infections

d. bacitracin
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Passage 3

T_’he problem with a new pandemic influenza strain is that there is no hiding place on earth. Virtually any
single human being will eventually become infected with the new virus. If you do not get the virus during thi
first wave of the papdemic, you will probably get it during the second, or during one of the future epidemics
If a novel papdcmm influenza strain takes over, everyone needs to mount a protective antibody responée
against .the virus. Antibodies will provide some protection against the new influenza strain, but to. develop
an?lbodles you have to either be infected or vaccinated. For the vast majority of the 6.5 billic,m living human
beings, there will be no vaccine available any time soon after the arrival of a new pandemic influenza virus.
Furthermore, vaccine supplies will be exquisitely inadequate. In addition, production capacitiés are
C(?ncF:nUated in developed countries including Australia, Canada, France and the United States, and vaccine
dlstrll()lu;ion can be expected to be controlled by the producing nations. We can all imagine who will be
served first.

101 . The text implies the ............ of influenza virus infecting human beings all over the world.
a. likelihood b. limitations c. scarcity d. susceptibility

102 . In case of new pandemic influenza strain, everybody is advised to .....ooininnns ;
a. travel to a safer location
b. generate novel vaccines
c. take a protective measure
d. contribute to antibody development

103 . One of the main concerns over the new strains of influenza is that .......... ve s
a. many people fail to have access t0 the new vaccine
b. antibodies cannot be developed when the individual is infected
c. antibodies may correspond to the new flue strain
d. the majority of people will not survive

104 . With the emergence of pandemic influenza, the vaccines manufactured usually ..........ov s
a. meet all the related concems
b. eradicate the novel strain of virus
c. endanger the lives of every individual
d. fail to meet the needs of all affected

105 . From this paragraph it is understood that inhabitants of developed countries ......... .
a. refer to vaccination location with caution
b. get afflicted with the flue earlier
c. find it easier to get vaccinated
d. contribute to the shortage of antiviral drugs
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Passage 4

A memory is a thought that is stored in a neural system of the brain and then recalled at a later time. Some
memories last only for a few minutes and are called short term memories. These probably result from
continuous activation of neurons, thus keeping the memory of a thought temporarily alive, However, if the
thought is a very strong one, especially if it causes either pain or pleasure, it will be stored in the memory
areas of the brain in the form of a long-term memory. This memory results from some long-term chemical or
physical change in the synapse that alters their future ability to transmit signals. That is, those synapses that
are excited for a specific thought develop a permanent or semi-permanent facilitation that allows the same
thought to reappear at a later time when elicited by appropriate stimulation.

Another intellectual process of the brain is its ability to analyze the incoming sensory information and make
it meaningful. The most important area of the entire cerebral cortex for this function is Wernike’s area
located in the right handed person in the posterior, superior part of the left temporal lobe. It is here that
information derived from auditory, visual and somatic experiences all come together and is interpreted.

106 . According to the text, all memories ............... .
a. continue to exist in the brain forever
b. will remain temporarily if they cause either pain or pleasure
c. result from long term changes in the synapses
d. are gathered in the neural system of the brain

107 . According to this passage, .........covvvenee,
a. all memories undergo changes in synapses
b. when the neurons are continuously activated, a memory is retained temporarily
c. short term memories result from a thought with pain or pleasure
d. the synapses facilitate the appearance of a thought at a later time

108 . The reappearance of a specific thought depends on ...............
a. intermittent activation of neurons
b. auditory, visual and somatic experignces
¢. incoming sensory information
d. excitation of the synapses

109 . According to the information in the passage, Wernicke’s area ...........c...c.u
a. is situated in people’s posterior, superior part of the left temporal lobe
b. makes the incoming information interpretable
c. analyzes all the functions of the cerebral cortex
d. rejects the incoming meaningless information

110 . According to this passage, ........... .. helps differentiate short term and long term memories.
a. thought strength
b. signal transmission
c. facilitated thought
d. meamngful information




